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Guess Paper – 2008
Class – X

Subject - Mathematics

Time Allowed: 3 hrs





                                 Max. Marks: 80
 General Instructions:
(i) All questions are compulsory.

(ii) This question paper consists of 25 questions divided into three sections: A, B and C.

Section A contains 7 questions of 2 marks each.

Section B contains 12 questions of 3 marks each.

Section C contains 6 questions of 5 marks each.

(iii) Internal choices have been provided in some questions you have to attempt only one of the choices in such questions.

(iv) In questions on constructions, the drawing should be neat and exactly as per the given measurements.

(v) Use of calculators is not permitted however you may ask for mathematical tables.

SECTION – A

Question no 1 to 7 carying 2 marks each
1) Solve the following system of equations graphically
3x – 5y = – 1 
and 
2x – y = – 3.

2) The first term of an A. P. is 5 and its 100th term is – 292 find the 50th term of this A. P.
3) An electric iron is available for Rs.  550 cash or for Rs.  250 cash down payment together with Rs.  305 to be paid after 2 months. Find the rate of interest charged under this scheme.

4) A TV set is available for Rs. 19650 cash payment or for Rs.  3100 cash down payment followed by three equal annual installments. If the shopkeeper charges interest at the rate of 10% per annum compounded annually, calculate the amount of each installment.

5) Construct a triangle ABC whose side AB = 5 cm, ( C = 30( and median     CD = 4 cm. ( Steps of construction not required).

6) A copper rod of diameter 1 cm and length 8 cm is drawn into a wire of length 18 m of uniform thickness. Find the thickness of wire.

7) Calculate the mean of the following frequency distribution

	Marks
	0 – 10
	10 – 20
	20 – 30
	30 – 40
	40 – 50

	No. of Students
	20
	24
	40
	36
	20


SECTION – B    

 Question no 8 to 19 carying 3 marks each

8) A die is thrown once find the probability of getting 

a. An even number,

b. A number > 3.
9) A toy is in the form of a cone mounted on a hemisphere with the same radius.  The diameter of the base of the conical portion is 6cm and its height is 4 cm.  determine the surface area of the toy.(use ( =  3.14)

10) [image: image1.png]In the given figure, LO is the bisector of angle L of triangle If LM = 8cm, LN =  10cm and MO =6cm then 

a. Determine ON

b. Determine MN

c. Determine ON / MN

11) Solve : 
x + y – (a + b) = 0


ax – by – (a2 – b2) = 0

12) If the HCF of the polynomials p(x) = (x – 1)(x2 + 3x + a)&q(x) = (x + 2)(x2 + 2x + 3) is   (x – 1)(x + 2), find a and b.        

13) Express the following as a rational expression in its lowest terms

[(2x2+3) / (x – 1) + (x + 4) / (x+1)] ÷ [(3x + 2) / (x2 – 1)]

14) The sum S of first n natural number is given by the relation



S=n(n+1)/2










find n, if the sum is 276.

15) Prove that 
  cosec A/(cosec A – 1) + cosecA/(cosec A + 1) = 2sec2A

16) Find the value of k, if the point p(0,2) is equidistance from (3,k) and (k,5)




OR







prove that the  points (1,-1), (-1/2,1/2) AND (1,2) are the vertices of an isosceles triangle.

17) if A and  B are (1,4) and (5,2) respectively, find the co-ordinates of P when AP/PB=3/4

18) Water flows out through a circular pipe, whose internal diameter is 2cm, at the rate of 0.7m per second into a cylindrical tank, the radius of whose base is 40cm.  By grow much will the level of water rise in half an hour?
19) If OA and OB are two tangents drawn from a point P to a circle with centre O touching it at A and B, prove that OP is the perpendicular bisector of AB.

20) In one day the sales (in rupees) of different items of a baker’s shop are given below;











	Ordinary Bread
	Fruit Bread
	Cake Pasties
	Biscuits
	Others

	Rs.  260
	Rs.  40
	Rs.  100
	Rs.  60
	Rs.  20


draw a pie chart representing the above sales.

SECTION – C

21) In a right triangle, prove that the square on the hypotenuse is equal to the sum of the squares on the other two sides.  
Using above, solve the following; 
from figure, find the length CA, if CK ( DB and 
AB ( DB.



22) Sunil’s salary is Rs.  26000 per month.  He contributes Rs.  54,000 towards GPF during the year.  He also purchases NCS worth Rs.  16000.  He donates Rs.  8000 to a charitable trust.  Thus earnning a deduction of 50% on donation. Calculate the income tax paid by him on last month if his earlier deduction per month Rs 500 as income tax for 11 months. Assume the following rates:

	   Net Income Range
	                  Rate of Income Tax

	Up to Rs 1,00,000
	Nil

	Rs. Rs1,00,000 to Rs 1,50,000
	10% of the amount by which the total income 

exceeds Rs 1,00,000

	Rs. 1,50,000 to 2,50,000
	20% of the amount by 

which the total income exceeds 1,50,000

	Rs. 2,50,000and above
	Rs. 25,000plus 30% of the amount by which

The total income exceeds Rs.2,50,000.


Savings                                                    Max. up to Rs1,00,000

Cess                                                           2 % of income tax

23) A vertical tower stands on a horizontal plane and is surmounted by a flagstaff of height 7 m. from a point on the plane, the angle of elevation of the bottom of flagstaff is 30( and that of the top is 60(. Find the height of the tower.





the shadow of a tower standing on level ground is 45 m longer when sun’s elevation is 30( than when it was 60(. Find the height of the tower.

24) A tent of height 8.25m is the form of a right circular cylinder with diameter of base 30m and height 5.5m, surmounted by a right circular cone of the same base. Find the cost of canvas of the tent at the rate of Rs 45 per m2 

25) PAB is a secant to a circle interesting the circle at A & B and PT is a Tangent, then prove that  PA.PB = PT2.
Using the above result, prove: Two circles are intersecting each other at P & Q. from a point R on PQ produced, two tangents RB and RC are drawn to the circle, touching them at B and C. Prove that RB = RC.






OR
If a line touches a circle and from the point of contact, a chord is drawn, the angles which this chord makes with the given line are equal respectively to the angles formed in the corresponding alternate segments. Using the above result, find ( QRP in the given figure.  
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